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548 752 412,096,000 3,130 | 1,715,240,000 | 2,127,336,000
456 752,000 3,130 | 1,427,280,000 | 1,428,032,000
. 1,004 412,848,000 3,142,520,000 | 3,555,368,000
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898 752,000 2,810,740,000 | 2,811,492,000
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159 1,504,000 2,505 398,295,000 399,799,000

63 2,505 157,815,000 157,815,000

410 142,880,000 1,027,050,000 | 1,169,930,000
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159 752,000 2,505 398,295,000 399,047,000

155 752,000 2,505 388,275,000 389,027,000

62 - 2,505 155,310,000 155,310,000

376 1,504,000 941,880,000 943,384,000

786 144,384,000 1,968,930,000 | 2,113,314,000
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69 2,900 216,246,000 216,246,000
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e NEETCET S| 4 7,779,000 1,944,750
s PR g 31 120,900,000 3,900,000
0202 81 92,000,000 1,135,802
A 2I2t0 2 8 30,300,000 3,787.500
o0l €| = S g 2 120,000,000 60,000,000
HESea 211 386,302,000 1,830,815
EEE] 6 12,500,000 2,083,333
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A2t2tol2 142 751,300,000 5,290,845
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ol 24| 19 212,160,000 11,166,316
ESm} EEE 13 18,000,000 1,384,615
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